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requested to open the booklet and compulsorily examine it
as below :

(i) To have access to the Question Booklet, tear off the
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an open booklet.
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Booklet. 4.
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where (C) is the correct response. 5.
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Rough Work is to be done in the end of this booklet.

8. If you write your name or put any mark on any part of the
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LABOUR WELFARE AND INDUSTRIAL RELATIONS/LABOUR AND
SOCIAL WELFARE/HUMAN RESOURCE MANAGEMENT

PAPER —-1II

Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

Motivation is an effective instrument in the hands of management in inspiring the
work force. It is the major task of every manager to motivate his subordinates or to
create the will to work among the subordinates, it should also be remembered that a
worker may be immensely capable of doing some work, nothing can be achieved if he
is not willing to work. Creation of a will to work is motivation in simple but true sense
of the term. In order to motivate workers to work for the organisational goals, the
manager must determine the motives or needs of the worker and provide an
environment in which appropriate incentives are available for their satisfaction. If the
management is successful in doing so, it will also be successful in increasing the
willingness of the workers for work. This will increase efficiency and effectiveness of
the organisation. There will be better utilisation of resources and workers abilities and
capacities. Higher motivation leads to job satisfaction of the workers which can reduce
absenteeism labour turnover and labour unrest. This will create better industrial
relations in the enterprise since there are opportunities in the organisation for the need
satisfaction of the workers, they will be more committed to the organisation and the
better work force will be willing to join the organisation. Motivation will also faster

team spirit among the workers and increase their loyalty to work group.

1. Low motivation can lead to :
(A) increased turnover (B) increased productivity
(C) willingness to work (D) None of the above

2. Which of the following statements is correct ?

(A) Need and motive of the worker are one and the same

(B) Job satisfaction is responsible for employee turnover

(C) Motive of an employee can be known by studying his needs
(

D) None of the above
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Which of the following is not the function of the manager ?

(A) Motivating the workforce

(B) Providing monetary incentives to workers to make them work
(C) Building team spirit among workers

(D) Reducing distrust between the management and the employees

‘Turnover’ in this passage refers to :

(A) Total money received by the organisation from sales of its goods
(B) Movement of people into and out of the establishment

(C) Number of workers leaving employment and being replaced

(D) Rate of production by a machine.

Workers need to be motivated in order to :

(A) inspire them to increase their productivity
(B) promote fraternity among workers

(C) reduce labour turnover and labour unrest

(D) all of the above

‘The Unity of Command’ principle of effective direction suggests :
(A) Unity among subordinates

(B) Same command to all

(C) A command must not be altered

(D) A subordinate accountable to only one superior

J—5508 4
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7.  Match List I (Management thinkers) with List II (Sequence of functions advocated by
them ) and select the correct answer using the codes given below :

List I List 11
(a) Newman and Summer (i) Organising, planning, leading and
controlling
(b) Henry Fayol (i) Planning, organising, commanding,
coordinating and controlling
(¢) Luther Gullick (iii) Planning, organising, staffing, directing
and controlling
(d) Koontz and O’Donnel (iv) “POSDCORB”
Codes :
(@ M () @
@ O @) () (@
® () O @) )
© O ) @) @)
D) () O (v ()

8.  Match the following :

List I List 11
(a) Staff Executives (i)  Advisory function
(b) Directing (i) Manpower development
() Line Executives (iii) Guiding function
(d) Staffing (iv) Managerial authority
Codes :
(@ (b)) (o (@
(A) @) (D) (v) (i)
B) @) (v) (D) (i)
(© @) () @) @)
(D) @) @@ @) (1)
9. A special kind of plan formulated in order to meet the challenge of competitors is
called :
(A) Strategy (B) Single use plan
(C) Programme (D) Project

J—5508 6
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10.

11.

12.

13.

Directing function of management includes :
(A) Issuing orders to subordinates

(B) Supervising subordinates

(C) Guiding and teaching subordinates

(D) All the above

Approaches to job design includes :
(A) Engineering approach

(B) Human approach

(C) The job characteristic approach

(D) All the above

Formula for Labour Turnover rate is :

Temporary total loss

(A) Labour Turnover = - x 100
Temporary partial loss

(B) Labour Turnover = FEmaAgnt tOta_ll 10ps x 100
Permanent partial loss

Number of employees left during a specified period

(C) Labour Turnover = x 100

Average number of employees during the same period

Number of employees present

(D) Labour Turnover = x 100
Number of employees left
Bonus is paid from :
ross profit vailable surplus
(A) G profi (B) Availabl pl
(C) Allocable surplus (D) None of the above

J—5508 8
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14.

15.

16.

Assertion (A) : National minimum wage policy for unorganised workers can bring
uniformity in rate of minimum wages in all the states.

Reason (R) : Uniformity in rate of minimum wages cannot be maintained in all the
states.

Codes :

(A) (A)isright, (R) is wrong

(B) Both (A) and (R) are wrong

(C) Both (A) and (R) are right

(D) (A)is wrong, (R) is right

Under job Evaluation techniques ranking method includes :
(A) Simple ranking (B) Ranking the key jobs
(C) Paired comparison (D) All the above

Match the following :

List I List 11
(a) Job specification (i) Procedure for determining duties and skills
for a job and the kind of person required
to perform
(b) Career (ii) List of Job’s duties, responsibilities,

reporting, relations, working conditions

(c) Job analysis (iii) List of job’s human requirements in terms
of education, skills, personality etc.

(d) Job description (iv) The occupational positions a person has
had over many years

Codes :

(@ (b)) (o (@
(A) @O @) @) ()
B @ @) @ )
(© ) @) @ 3G
(D) (v) (@) () ()

J—5508 10
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(@ B (© @
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(D) (@v) (i) @) @
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17.

18.

19.

20.

21.

22.

Which of the following is (are) the goal(s) of HRD ?
A) Attracting people to organisation and retaining them

B

~—"

(
( Maximising performance in assigned roles
(C) Maximising performance in future roles
(D) All the above

The influence of rater’s general impression on ratings of specific rate qualities is
called :

(A) Halo effect (B) Central tendency

(C) Leniency (D) Howthorne Effect

A voluntary group of workers, to examine work-related problems that affect quality of
output, is called :

(A) Quality of work life (B) Quality team

(C)  Quality circle (D) All the above

Restructuring of job content and division of responsibility between jobs to increase the
amount of responsibility is called :

(A) Job enlargement (B) Job enrichment

(C) Job analysis (D) Job evaluation

The ‘Tri-dimensional grid” was developed by :
(A) Fayol (B) Gullick

(C) F.W. Taylor (D) Reddin

Who gave ‘Theory X" and ‘“Theory Y’ of motivation ?
(A) Maslow (B) Herzberg

(C) Mc Gregor (D) Kurt Lewin

J—5508 12
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17.

18.

19.

20.

21.

22.
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23.

24.

25.

26.

27.

is the third person acting as a catalyst, who assists in the achievement of
the smooth introduction and implementation of change.

(A) Change manager (B) Change supervisor
(C) Change player (D) Change agent

What is the correct sequence of stages of group development ?
i)  Norming
ii) Forming

iii) Storming

>

) (i), (i) and (iii)
B

~—

(
(
(
(
(B) (i), (iii) and (i)
(C) (i), (i) and (i)

(D) None of the above

The main objective of workers’ participation in management is

(A) To promote increased productivity for the advantage of organisation, workers
and society at large

(B) To develop, enhance and utilise resources effectively
(C) To improve various skills of workers in organisation

(D) To respond to the members” demands both formally and informally

As per the Industrial dispute Act. 1947 the constitution of works committee is mandatory
if the number of workers are :

(A) 200 or more (B) 100 or more

(C) 300 or more (D) None of the above

Temporary cessation of work by a group of workers is called :
(A) Strike (B) Gherao

(C) Lockout (D) None of the above

J—5508 14
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23.

24.

25.

26.

27.
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(A) 9RERE yeEs (B) UReA wAEh
(C) uRted faaret (D) ftedH T

e faehra &t sToensii &1 T& THT 1 T ?
() =T

(i) ‘I

(iii) ‘=AHT

(A) (), (i) 3R (i)
(

(

(

B) (i), (iii) 3R (i)

~—

Q) (iii), (ii) 3R (i)
D) S ¥ § I T

o T ARl hi HEHTHT 1 & 3¢9 © :
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(
(

~—
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D) Wl i AT 1 SA=TRer T AR €9 H ST <l

strenfirer faare erfufrem, 1947 % @R %1 Gfufq =1 d@faum s © afe gfaet ot
H@T%

(A) 200 AT ST (B) 100 AT SHTT

(C) 300 AT ST (D) 39w | ¥ *E &
ATt gRT T ol TR foRT et ©

(A) B (B) B
(SEISIEE (D) S H 9 g T
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28.

29.

30.

31.

32.

33.

The inability of an employer to provide employment due to shortage of power,
rawmaterial and breakdown of machinery is called

(A) Retrenchment (B) Lockout
(C©) Lay off (D) None of the above

Which of the following is/are the essence of model grievance procedure ?
(A) Settlement at the lower level

(B) Settlement as expeditiously as possible

(C) Settlement to the satisfaction of the aggrieved

(D) All the above

Intra-Union rivalry means :
(A) Rivalry between unions
(B) Rivalry within the same union
(C

(D

) Rivalry between unions and management

) Rivalry between unions and government

UTUC was formed in the year :

(A) 1949 (B) 1984 (C) 1920 (D) 1947

Who is the President of INTUC ?
(A) Sanjeeva Reddy (B) Dutta Samanth
(C) Sitaram Etchuri (D) S. R. Kulkarni

Arrange the following in the order they appeared. Use the codes given below :
i)  First Labour Legislation

ii) L L.O.

iii) Indian Constitution

(
(
(
(iv) E.S. I Corporation
(
(
(
(

J—5508 16
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28.

29.

30.

31.

32.

33.
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I, T i T ST TR o 22 ST i oote § FEeT 511 USFIR UM & i STEmef
e § :

(A) B (B)
(C) M

LISIE]
(D) 39w § 9 *iE Tl

frefafaa # & ‘Afed Momw ISR’ 1 ga @ S |9 8?2
(A) Tt = W HwE

(B) TS e & wrva &1 Aweitan s

(C) caferd & g % ferd gagian
(

)
D) 39w Ul

SqU-H wfagf<ar &1 o1 ¢

A) I & o= glaghaa

B) T & §9 & <L yfdgf=d
C) Wi 3R yory & o= ufagf<ar

(
(
(
(D) i 3R wRaR ¥ <= yfaghea

)
)

A (Feh) ford T ® a1 A2

(A) 1949 (B) 1984 (C) 1920 (D) 1947

TeH (3T T 3 3 H) H 78787 A § 2
(A) HSTE G (B)
(C) Hidr™ T

T 9HYg

(D) TH.3R. FHelehoil

Freafafaa il ST Yehe B & 1 | Hafed & | 9 a3 e o1 ST A g Tel W A
= L |

() TUH g9 HA

(i) STE.TA.L
(iti) WRCr HfoEe
(iv) 3.TH.sTE. fm
(A) (iv) (i) (i
( .
(
(

@ @) (i
i @ «
M

v

)
(i)
(iv)
(iv)

i)

P.T.O.
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34.

35.

36.

37.

Arrange the following Acts in the order they were enacted. Use the codes given
below :

() Workmen’s Compensation Act
() Maternity Benefit Act

(iiiy Factories Act

(iv) Equal Remuneration Act

(A) (1) (D) G) ()

B) () (v) (D) (i)

Q) () (i) (Gv) (@)

(D) (v) G @) (@)

Which of the following is not correct ?

(A) Both the Central and State Governments can enact labour laws
(B) Only the Central Government can enact labour laws

(C) Only the State Government can enact labour laws

(D) None of them can enact labour laws

Which of the following statements is wrong ?

(A) Part IV of the Indian Constitution deals with the Directive Principles of State
Policy

(B) Employees State Insurance Act was enacted in the year 1948
(C) Factories Act, 1948 comes under the category of Social Security Legislations

(D) Social Assistance is contributory in nature

Which of the following statements is not correct ?

A) The basic objective of labour laws is to protect interest of both parties in industry

(

(B) Labour laws protect only the interest of working class

(C) Labour laws control the behaviour of both the parties in industry
(

D) Labour laws protect the interest of employers only

J—5508 18
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34. Trfafea sfuftadl 60 37% aia 89 o %9 o =afed w1 F= o Fe & 7@ ® L)
()  gusiet afaqfd stfufm
(i) W oY AfTTEH

35. freAfafEd & 9 &9 1 %oF T 71 ©?
(A) F=T 3R TF IHI TR HHT o1 Fohal & |
(B) I F=d THR FH9 HT oA Fehdll ¢ |
(C) Had T THR 9 HIH oA Fhel ¥ |
(D) T ¥ HIE FH HMA T 941 Fhal S|

36. freAfcfEd § ¥ HH W1 HUH T § 2
(A) ¥R Hfaum & -1V I Hifd & fefm fagr & gwfsd §
(B) HHERI T oA Tfufae o 1948 H &1 o)
(C) R i, 1948 |k FRan fafy syemen & ot # o1 71
(D) IS Herdl HeehRl Jhfd i 2|

37. M W HYF T G &2
(A) 9 ST ol Herd S2ed SEN & S <ell o fedl o1 SRe w1
(B) oM A harel AHSHe! 7 % fad T T i ¥ |
(C) &M ST 3TN H S ol & Zaer &l Faf=d & § |
(D) 9 HFA Faa el & fed o e & §)
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38.

39.

40.

41.

42.

43.

Which of the following statements relating to the Trade Unions Act is correct ?
(A) A registered trade union cannot constitute a separate fund for political purposes

(B) Any person who has attained the age of fourteen years may be a member of a
registered trade union

(C) A person who has not attained the age of eighteen years shall be disqualified for
being chosen as an office-bearer a union

(D) The general fund of a union cannot be spent for payment of salaries to
office-bearers of the union

The Industrial Employment (Standing Orders) Act, 1946 is applicable to every
establishment wherein workmen are employed.

(A) 50 (B) 70 (C) 80 (D) 100

Which schedule of the Industrial Disputes Act, 1947 gives the list of public utility
services ?

(A) First Schedule (B) Second Schedule
(C) Third Schedule (D) Fourth Schedule

The Equal Remuneration Act was enacted in the year

(A) 1972 (B) 1974 (C) 1976 (D) 1977

Which of the following statements relating to the Payment of Wages Act is not
correct ?

A) The Act was enacted in 1936
B

~—"

(
( Under this Act payment of wages cannot be made fortnightly

(C) The Act has provision for authorised deductions from wages

(D) Under this Act, the definition of ‘Employed Person’ includes the legal representative
of a deceased employee

‘Trusteeship theory” of labour welfare was proposed by :
(A) M. K. Gandhi (B) V.V.Giri
(C) Bal Gangadhar Tilak (D) Jawaharlal Nehru
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38.

39.

40.

41.

42.

43.

TG 9 SATUEm o g H A 9 e 6§ 2
(A) TSiipd TSR o TSTfaes Sl o fordr gerek fafer =i o wehan 1
(B) @IS +ff =ATwH S <lice oY i 3T I B T § Usiiehd HoIGY Gl o1 HSE & Tohal § |

(C) o= = =it 371 2TeNE oY ! Tel §s © I HH I TQIURR I STH 9 TAEIhd Sadl
SR

(D) == =t g 1y T % werfaemfiEl & aa7 Jram & ford o T2 &t ST gehRdt 2

SAreiiTer ISP (Ter Twesn) ffem, 1946 Toieh Tfasod W sl T gestel
IR § T A B T |
(A) 50 (B) 70 (C) 80 (D) 100

sirenfiren faarg sifafm, 1947 &t form STaget § <o Suifitar dansti o6t 3= < T 72

(A) e ST B) fedta srggeh

(C) gl g (D) et srgeht

T wiRgfaes eAfuftam foem a9 o o on?

(A) 1972 (B) 1974 (C) 1976 (D) 1977

TG A AU § T afsd el | 9 i 91 98l Tel © 2

(A) SAfuf=m 1936 § &1 o1

(B) sifufta & Sfaela Hergdt 1 wifereh T &l foRan ST wehe T |
(C) weigy & Wiftrha walfaa o o eifufem & graem 2

(D) =9 sifufaw o siqiq, ‘g =afe’ ot gk fesma swH=ml o e gfaffy
quIfs HIH 2|

TH A0 1 | TR g’ fhdsh g’ wEarfaa foha = o1 ?
(A) THS, T (B) el il
(C) e TR fereteh (D) VAR 8%
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44.

45.

46.

47.

48.

49.

50.

GET IT ON
Google Play

Employers are required to provide a creche if the number of women workers employed

in factory is :
(A) more than 50 (B) more than 30
(C) more than 100 (D) more than 150

Welfare programmes undertaken outside the organisation are called :
(A) Statutory welfare programme

(B) Intra mural welfare programmes

(C) Extra mural welfare programmes
(

D) Non statutory welfare programmes

ILO was formed in the year :

(A) 1919 (B) 1947 (C) 1951 (D)

Wages expressed in terms of money are called :
(A) Nominal wages (B) Real wages
(C) Wage scales (D) Fringe Benefits

The Residual Claimant Theory of Wages was propounded by :
(A) Karl Marx (B) David Ricardo
(C) David John (D) Francis A. Walker

If a wage rate is determined by job evaluation, it is called :
(A) Real wage (B) Standard wage rate
(C) Piece - rate (D) Time - rate

The committee on Fair Wages was appointed in India in the year

(A) 1946 (B) 1947 (C) 1948 (D)

-00o0-
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44.

45.

46.

47.
48.
49.

50.

FrerBIeTl 1 5= o GIeen T w9t © afc @M H i @l S A & e
(A) 50 fere T (B) 30 ¥ aftre T
(C) 100 ¥ 31ferk 71 (D) 150 § 31ferk 71

ST H AR T ST aTel ool HhiishH Heelld §
A) e HeTT HREH

B) ¥ZTHITET HeA hrdHA

C) TR FHed HEHH

X

(
(
(
(D) TSfTeh HeAToT HEHH

3778, T, 311, bl T19T fohy o6 H g8 off ?

(A) 1919 (B) 1947 (C) 1951 (D) 1926
Hifgh &9 H A TG FHEA ¢ :

(A) HHH HSGH (B) 1HA HSIg

(C) Tl what (i) (D) STSlt <y

TSI o1 Sieguel ®ide g fere gfafed foran?
(A) It AT (B) <fae Rewrel
() <fas siF (D) WHIfEH T, afeht

Ffg TeIgd X T fuieor el (Sife) odice R ErT § o 59 hed € ¢
(A) A (SEdfereR) HSigd (B) HIMh HSIgl &
(C) 3 T (T - @) (D) wHI X

ARd | =Iifed Aeigd W |ffd frg o § fg &t 78 ot ?
(A) 1946 (B) 1947 (C) 1948 (D) 1949

-00o0-

J—5508 23 P.T.O.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Space For Rough Work
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